JICMOBepCl/Iﬂ AJIst HpOMe)KyTO‘IHOﬁ arrecranmuu

110 AaHIVIMMCKOMY SI3BIKY B 8 Ki1acce
1. Ha3nauenue KOHmMpoavHoU padomol

IIpoMerxxyTouHas aTTecTalys, MIPOBOJAUTCS C LENbIO ONPEIEICHHUS YPOBHS OCBOCHUS YUalTUMHUCS 8-X KJIacCOB
CoJIep KaHUs Kypca aHTJIMMCKOTO SI3bIKa.

JlaHHBII MaTeprall peaHa3HAYCH JJIS MPOBEACHUS MPOMEKYTOYHOM aTTECTAIMH IO aHTJIMHCKOMY SI3BIKY 3a Kypc 8
knacca. CocTaBiieH Ha OCHOBE TOCYIapPCTBEHHOI'O CTaHapTa CpeHero o0Iero o0pa3oBaHus 10 HHOCTPAHHBIM
SI3BIKAaM , paboUei MporpaMMebl, yaeOHUKa «AHTTIUICKUN B (hokyce»(0a3oBbiii ypoBeHb) H0.E.Baynuna., Jix. Jymm.

2. @opma nposedenusn
Jekcuko-zpammamuseckuii mecm

YpOBEHB CIOXHOCTH 3aaHUH OMPENeIIIeTCs YPOBHAMH CII0XKHOCTHU SI3LIKOBOTO MaTepHalla U MPOBEPSIEMBIX
KOMMYHHKATHBHBIX YMEHHH 32 Kypc 8 Ki1acca, a TaKkKe THIIOM 3aJIJaHWi, HE TIPEBBIIIAIOIINX TPeOOBaHUN YpOBHS
Al mo oOrreli eBpoINencKoi IKaie, onpeaenéHHon B qokyMenTax Coera EBporbl.

3. [numenvhocmo npoeedeHus

Ha BrimosHeHHE paboThl OTBOAUTHCA 1 ypok (40 MHUHYT) .

4. Ilapamempul oyenku
Pabota cocrout u3 3 yacreii u comepkut 40 3amaHui:
- Jlexcuko-rpammatudeckuii tect (30 3ananuii)
- UTeHue ¢ HAXOKIEeHMEM MHTepPecyIoleld WU HyKHOUH uHpopManum ( 5 3aganuii)
- AynupoBaHue, moHMManue nHpopmauun Ha ciayx (S 3axanuii)
Ilposepsaemule ymeHnusn u 6udvl 0esAsmenbHOCMU:

o Ilonumanue 3anpamI/IBaeM0171 I/IH(I)OpMaLII/II/I B IPOCTYIIAHHOM TEKCTE, KOTOpI;Iﬁ COACPIKUT HEKOTOPOC
KOJIMYECTBO HE3HAKOMBIX CJIOB

o Ilonumanue 3anpamI/IBaeM0171 I/IH(I)OpMaLII/II/I B IPOYUTAHHOM TCKCTEC, COACPKAIINX HECKOJIBKO HE3HAKOMBIX
CJIOB, HC BJIMAKOIINX HAa IIOHUMaHUC SaHpaLHHBaeMOﬁ I/IH(bOpMaLII/II/I

o HCKCI/IKO-I’paMMaTI/I‘IeCKI/Ie HaBBIKH yHOTpeGJ'IeHI/IH Hy)KHOﬁ MOp(l)OJ'IOFPI‘IeCKOfI, JIEKCHYECKOMU U
I’paMMaTPI‘IeCKOﬁ (1)OpMBI CJIOBA B KOMMYHUKATUBHO 3HAYMMOM KOHTEKCTE

Pa3nen 1 mo rpamMmaTtuke U JeKCUKe Cocrout n3 30 3aganuii( 1- 30), koTopbie

60 GayutoB BKJIFOYAIOT BOMIPOCH! , HANIpaBJI€HHbIE Ha
COOTHECEHHE MOJXOAAIIETO 110 3HAUCHUIO CII0Ba/
CJIOBOCOYETAHUsI, Ha BHIOOD MpaBUIILHON
rpammaTideckor popmel (a, b, ¢ Pekomenmyemoe
BpeMsI Ha BBIIIOJIHEHUE 3aaHuil pa3zaena |
COCTaBIISIET 25 MUHYT

Paznen 2 3ananue Ha yTeHUe coaepkut 5 3ananuii (31-35) Ha moHMMaHMe

20 6amioB npoyrTaHHOro Tekcra. HeobOxomumo onpenenurs
KaKye 13 NpUBECHHBIX yTBepkaeHui (31-35)
COOTBETCTBYIOT COZIEP KaHMUIO, a KaKue He
COOTBETCTBYIOT MJIA BOBCE HE YIIOMSHYTHI B TEKCTE .
Pexomenyemoe BpeMsi Ha BBITIONHEHUE 3aIaHHIN
paznena 2 cocranisieT 10 MUHYT.

Paznen 3 3apanue no ayaIupOBaHUIO npeajaracTcs npocjaymarb TCKCT JiBa pa3a U




20 GamoB OTIpeNIeNIUTh KaKOH U3 MATH MPEII0AKEHHBIX
BApUAHTOB COOTBETCTBYET KAXKIOMY
BbickasbiBanuio ( ABCDE) no yenbimannomy
Matepuaiy. PekoMeHnayemoe BpeMs Ha BHINOHEHNE
3aJaHuil pa3ziena cocTaBysieT 5 MUHYT

Kaxmoe MpaBUJIBHO BBITIOJITHCHHOC 3aJaHUE OLICHUBACTCA KOJIMYCCTBOM 6aIioB

SAJJAHIA 1-30 31-35 35-40

| BAJLJI 2 6anna / 60max 46anna/20max 46anna/20max |
MaxkcumanbHOE KOJTHYECTBO GalIoB, KOTOPOE MOXKET HaOpaTh ydauuiics 3a JaHHyio paboty — 100 6anos.
JInst OlleHNBaHUSA PE3yNbTATOB BBIOIHEHHBIX PA0OT MOJICYUTHIBAETCS OOLIMH 6aIl, KOTOPBIH
(opmupyeTcs myTém nozcuéra 0OLIEro KoMMUecTBa 0ajlioB 3a BHIIOMHEHHE KaKI0H YacTh paboThL.

OaJLIbI 100-80 79-60 59-30

OTMETKa «5» «4» «3»

" Menee 30 6aos — «2».

4.I1epeuens 3n1emenmos cooeprcanus, NPOBEePAEMbIX HA NPOMENCYMOUHOI AmMMmecmayuu

3aganus 1-30 - MopanbHbI€e I1aroiibl 1 MX DKBUBAJIEHTHI - must/ should/ can

- YcnoBHbIe nipeiokenus 1 ,2,3 tumna

- q)OpMI)I TJ1arojioB CTpaJaTCJIbHOTO 3aJ10ra M Kay3aThuBa

-HaubGosee ynorpedurenpHbie JUUHBIE ()OPMBI IIIAT0JIOB ACHCTBUTEILHOTO
3ajora Present/ Past/Future

-Nmena npujiaraTeibHbIC B HOHOX(HTEHLHOﬁ, CpaBHHTEHBHOﬁ u HpeBOCXOI[HOﬁ
CTCIICHAX, 06pa3OBaHHLIe T10 TpaBUJ1y, a TAKKC UCKIIIOYCHU A

- Ynorpebnenne (opm nHPuHUTHBA U repyHaus( to/-ing)

-Jlekcnueckoe 3Hayenue cioB too/enough/ either /neither

-Koncrpyxkums — used to/ get used to/ be used to

- Kocennas peus

3aganus 31-35 [ToHnMaHMe B MPOYNTAHHOM TEKCTE 3arpaninBaeMoi nHpopmanuu
3aganus 36-40 Bri6opouHOe moHMMaHue HeoOX 0IMM O/ HHTepecyomel HH)OpMAaIUK U3
MIPOCITYIIaHHOTO

JEMOHTCPAIIMOHHBII BAPUAHT

KonTposbHo- usMepurteabublii MaTepua B3t u3 YMK ( KoutpoabHble 3a1anus) , npeaMeTHAass JTUHUS
YueOHMKOB « AHIVINHCKUIA B pokyce» 5-9 kinaccnl , aBTOphI B. IBanc, xio dynu

Vocabulary and Grammar
Choose the correct item
1 Don’t be late. The film.....at 8 o’clock.
A isstarting B will start C starts
2 The plane took off ten minutes after the last passenger had...it
A caught B booked C boarded
3 This picture....at the beginning of the century.
A was painted B had painted C painted

4 Look at Martha’s expression. She... screaming any minute now!



A 1s starting B is going to start C will start

5 Lisa.... have cooked this delicious meal. She doesn’t even know how to boil an egg.

A mustn’t B shouldn’t C can’t
6 Dan’s health has really....ever since he stopped eating junk food.
A developed B increased C improved
7 Nathan is ....selfish to care about what others think of him.
A very B too C enough
8 We...half the rubbish on the beach by the time Jeff arrived.
A have cleaned up B had cleaned up C had been cleaning up
9 Ben tells the ...jokes I’ve ever heard.

A funnier B funniest C most funny

10 When his mother asked him if he knew anything about the broken window, he just..

shoulders and said nothing.
A crossed B clenched C shrugged
11 Gary didn’t mean ...you. He was just in a bad mood .
A hurt B hurting C to hurt
12 Ann asked her new classmate where ...from.
A did he come B he came C does he come
13 Make sure you wear a hat when you are out in the...weather.
A steaming B boiling C baking
14 If Frank....us, we wouldn’t have finished the project on time.
A wouldn’t help B didn’t help C hadn’t help
15 We ...for three hours before we decided to take a break.
A must be trekking B had been trekking C have been trekking
16 A good way to...a problem is to think about it calmly and carefully.
A win Bbeat C gain
17 After living in London for a few months, Emma finally....driving on the left.
Ausedto B gotusedto C was used to
18 It...like the bus is running late. Let’s catch a taxi.
A is looking B has looked C looks

19 ...Bob gets paid soon, he will not be able to pay his bills.

.his



Aif Bunless C when
20 There was thick black ....coming out of the burning building.
A fog B smoke C smog
21 Mark said that he ....a great time in London the previous summer.
A had had B would have C has had
22 Michael must ....on the phone. I’ve tried calling him but his line is busy.
A have talked B be talking C talk
23 What time does the train....Bristol?
A arrive B get Creach
24 Neither Annabel....Sue has ever flown in a plane.
Aor Band Cnor
25 Mr. Adams speaks ...than anyone I know.
A slower B more slowly C the most slowly

26 Sue wanted to change the appearance of her living room, so she ....by a professional interior
designer.

A decorated it B had it decorated C had decorated it
27 John says that when he was a student, Maths ...his least favourite subject.
A were B has been C was
28 My mum says she will never forget....my dad for the first time.
A to meet B she met C meeting
29 The burning of fossil fuels has a bad ....on out environment.
A drawback B impact C fault
30 Mum advised me....the heavy box up the stairs.
A not to carry B to not carry C don’t carry

Marks: 30x2 (60)

Reading

Read the text and mark the statements ( 31 to 35 ) as T ( true), F ( false ) or NS ( Not stated)



WHITE ROOFS FOR A BRIGHT FUTURE !

The effect of global warming are becoming more and more noticeable with the passing of the
years. The number of floods , storms and heatwaves has increased as a result of carbon dioxide

and other greenhouse gases that do not allow the sun’s heat to escape the Earth’s atmosphere.

However, a simple and quite possibly effective idea has been suggested as a way to help lessen
the consequences of climate change.

Professor Steven Chu, the US Energy Secretary and a Nobel Prize winner, suggests that painting
our rooftops white will help the Earth’s temperature to drop. The idea is that if enough
surfaces- rooftops , pavements, roads- are painted white ,more sunlight will reflect off these
surfaces and go back into space. This will help cool our planet down.

According to scientists, if rooftops and roads were painted white it would reduce the amount of
CO 2 by billions of tons. This would be the same as taking every car in the world off the streets
for 11 years. Not only this, but homes with white rooftops and cars that are painted white
wouldn’t absorb so much heat from the sun. This means that they would be cooler and people
wouldn’t have to turn on their air conditioners as much. Consequently, we would save more
energy and reduce the amount of CO2 released in the atmosphere.

Although the idea of white rooftops has been generally welcomed by the scientific and
environmental communities, there appear to be a few problems. One of these is the fact that
the colour white would be too bright if it was painted on too many large surfaces. Another
concern is that keeping the white surfaces in good condition for a long period of time would be
too expensive.

Pessimists feel that though painting rooftops and pavement in light colours is good in theory, it
is just a very small step to take towards reducing the Earth’s temperature. What we must
remember though, is that there is not one solution to global warming. It’s the combination of
different methods that will help our planet get back on its feet.

31. There has been an increase in the amount of greenhouse gases in recent years.

32. Professor Chu suggests painting every large surface on the Earth white.

33. Buildings with white rooftops don’t need air conditioning.

34. Professor Chu’s suggestion has been accepted by many experts.

35. Some people feel that painting surfaces white will not be enough to solve the problem of
global warming.

Marks: 5x4 ( 20)

Listening



Listen to some people talk about travelling on a radio programme and then match the speakers
( 1-5) to their stataments ( A-E )

A The speaker only visits places he/she knows very well 36 Speaker 1

B The speaker does some research before visiting a place 37 Speaker 2

C The speaker doesn’t like to visit the same place twice 38 Speaker3

D The speaker prefers travelling alone 39 Speakerd

E The speaker prefers more active holidays 40 Speaker5

Marks: 5x4 (20)



